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Rounding up or rounding down?

Use a calculator to work out the exact answers to these questions.

Then decide if you need to round up or down
to get a sensible answer. ® ¢

| Model spiders have 8 legs. How many spiders can be
made from 278 legs?

2 Ihave 125 photograph frames. How many boxes do I need to carry
all the frames, if each box can carry 8 frames?
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3 A train ticket costs £53. How many tickets can I buy if I have £244?

354 apples need to be packed in boxes. 40 apples fit in a box.
How many full boxes of apples will there be?

A machine sews buttons onto coats. Each coat has 7 buttons.
The machine breaks after sewing 328 buttons. How many coats
are finished?

I52 children and teachers will travel on a trip to the theatre in
coaches. Each coach has 59 seats. How many coaches are needed?

I have 5m of ribbon. I want to tie an 850 mm length of ribbon to
each balloon. How many balloons can be tied with ribbon?




